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QUESTION 1

Given the code fragment: 

What is the result? 

A. 0 

B. 0 

C. 1 

D. The program prints nothing. 

E. It prints 1 in the infinite loop. 

Correct Answer: D 

 

QUESTION 2

Given the formula to calculate a monthly mortgage payment: 

and these declarations: 

How can you code the formula? 
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A. m = p * (r * Math.pow(1 + r, n) / (Math.pow(1 + r, n) - 1)); 

B. m = p * ((r * Math.pow(1 + r, n) / (Math.pow(1 + r, n)) - 1)); r * Math.pow(1 + r, n) / Math.pow(1 + r, n) - 1; 

C. m = p * D. m = p * (r * Math.pow(1 + r, n) / Math.pow(1 + r, n) - 1); 

Correct Answer: B 

 

QUESTION 3

Given: 

Which expression when added at line 1 will produce the output of 1.17? 

A. float z = (float)(Math.round((float)x/y*100)/100); 

B. float z = Math.round((int)(x/y),2); 

C. float z = Math.round((float)x/y,2); 

D. float z = Math.round((float)x/y*100)/(float)100; 

Correct Answer: D 

 

 

QUESTION 4

Given the code fragment: 
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What is the result? 

A. ab cd ef 

B. An ArrayIndexOutOfBoundsException is thrown at runtime. 

C. The compilation fails. 

D. abc def 

E. ad be cf 

Correct Answer: D 

 

QUESTION 5

Given: Which code, when inserted at one or more marked positions, would allow classes B and C to compile? 
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A. @Override // position 3 void x () {} // position 3 @Override // position 3 public void z() { } // position 3 // position 2 

B. @Override public void z() { } // position 3 

C. implements A // position 1 @Override // position 2 

D. public void z() { } // position 3 

Correct Answer: B 
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